[S5nEYT—EE HFERIRALRE EER]

1. A#EY
F 0~2% 3~5m% 6~11% |[12~19E|20~40m|41~59% 6 O~
— A=Y DEELE 21,900 27, 350 35,570 44,080 41,270 39,180 37,100
HREAH
INET (BEEFE X AR
AEEY &5t
2. HHEY
HEH A 1A 2 A 3 A 4 A 5A 6 A
EIEgE 194, 430 212, 400 230, 590 251, 560 257,900 264, 340
HEENEE (EHABIZE L=
ERBEXZDEERLN)
3. mEmE AFENE - BETRE fl: 2555 B8 - 185eh: S7R (- 53mE: 4 A DB E == B O
23, 340 QAfﬁiﬁﬁ;§> (20~408%)  (41~59%%) 23, 340
44,080 + 41270+  39,180x2 = 163,710
E BE RS
4 EREME | ATENE - BTRE ) G EREMELR
800, 000 163,710 A BHE]) * 12 = 1,964,520 800, 000F4
251,560 (1H#E!) x 12=3,018,720
23,340 (FBAEIDE) * 12= 280,080
EFRENE 800,000 4R _L[RZE 6,063,320/
HERIRA  LREE ] B (F)
1. (NEEIVAE) x1250A
2. (EHBYEEH) x12HA
3. (BEMHEDE) x12HA 280, 080
4. (EHREMHE) x 11 800, 000
& & (EHKRIRALRE)

HHEBIRANLOEERTHoON-HEFLINALREZEZ H5EEIH[RNELYET,
(IR ERAIOXIGRETY . FEFR. SERETY, SRFUE. HRABEFRLEIRALLZYET)




